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1} All of the following are possible steps in the data collection and information gathering
process that leads to decision making, except:
a) classification.
b} removal.
€) summarizing.
d} storing
g) retrieval
2} Which of the following is the type of decision made by lower-level managers and staff for
the day-to-day operations of an organization?
a) structured.
b) semistructured.
c) unstroctured.
d) all of the above
e} none of the above
3} According to Moore's law, processing power:
a) doubles every 12 maonths.
by doubles every 18 months.
c) triples every 12 months.
d) triples every |8 months.
e) triples every 24 months.
4) A dentisi can have many patients but each patient has only one dentist. What kind of
relationship is this an example of7
a) one-to-one relationship
b) one-to-many relationship
c) many-to-many relationship
d) all of the above
e} none of the above
5) Which of the following represents daia using two-dimensional tables?
a) hierarchical data model
b) network data model
c) relational data model
d} all of the above
e) none of the above
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6) Which of the following describes a telecommunication network that allows direct
compuier-to-computer exchange of business documents?
a}) ring topology
b) electronic data interchange
¢) peer-io-peer relationship
dj all of the above
g) mnone of the above
7) A factory's computer sutomatically sending an order 10 8 supplier's computer over a VAN
is an example of which kind of EC? '
a) business-to-business
b) business-to-business/individual
) individual-to-Individual
d) all of the above
e) none of the above
B} In which of the following is the data input device directly linked to the transaction
processing system enubling the data to be processed as soon as they are generated”?
a) on-line transaction processing (OLTP)
b) batch processing
¢) knowledge management
d) all of the above
e] none of the above
9y Which of the following is true of management information systems?
&) Summary and exception reports are their most common input.
b) Summary and exception reports are their most common outpul.
¢} Their main cutput targets are the transaction processing systems.
d} all of the above
e} none of the above
10) Which of the following constitute the three main components of a DSS?
a) a TPS, a network. and a model management sysiem
b} anetwork, 8 model management system. and support toals
c} & DBMS, a network, and support tools
d) an DBMS, s model management system. and support tools
e) none of the above =




B> mGR

B iIIEMHBEKXKE A R
N B E AT A B HE WA

I 1) Which of the following is a reason that organizations outsource?
a}) To provide improved job security for its employees.
b) Because prototyping is useful for building systems with emerging technology or in
cases where the requirements aren’t clear.
¢} To gain a strategic edge in the marketplace and better focus on its primary line of
business,
d) all of the above
e} one of the above
12} The SDLC phase that follows systems planning is7
a) systems implementation and evaluation
b) systems design
¢) systems development
d) systems analysis
) SVSIEMS action
13)  An example of a tengible factor for a systems project is?
a) & workforee reduction of 30 people
b} improving overall customer service
¢} enhancing the organization’s image
d) all of the above
e} none of the above
14)  Which of the following is the commonly accepled term for the person who is
responsible for the entire IT division or department?
a) chiel data officer
by chief knowledge officer
¢) chiel information officer
dy chiefl computer officer
e} chiel enginesring officer
15) The first siep in selecting a software package is to
a) develop a prototype
by identify potential sofiware vendors
¢} evalunie software package allernatives
di evaluate the information system requirements
e) negotiate with dealers
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16} software is a sofiware package that can be used by many different types of
organizations.
a) Commercial application
b} Hoerizontal application
¢} Vertical application
d} In-house
eg) EUC
ITA _ is used to connect two similar networks.
a) router
b) bridge
¢) gateway
d) modem
&) none of the above
18) Focusing on a niche means
a) providing products for o specific market segment,
b} being the low cost leader.
) using computers beter than competilors.
d) producing goods faster than competitors.
e} none of the above
19) A shoe company has a sophisticated and costly marketing information system in place
that lets it sell products faster than anyone else.  This would be aln) ____ to a new
business trying enter the market.
a) competitive reduction
b) switching cosl
c) barrier fo entry
d) barrier to exit
e} none of the above
20) Looking for patierns in a data warehouse is called
a) exception reporting
b} coursing
c) desynchronization
d) data mining
e) mnone of the above
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21) Which of the following is responsible for budget, time, and people in application
development”
a) business lechnobogist
b) programmer
¢) sysiems analysl
d) project manager
e) knowledge manager
22) Which of the following are support value chain activities?
&) Human respurce manzgement
b) Operations
¢} Firm infrastructure
d) aandc
g) aandb
23} Access. FoxPro, and Paradox are examples of which type of software?
a) word processing
b) CAD
c) Charting
d) Databases
e) Spreadsheets
24) Which of the following is a reason that intra-organizational systems are used more
frequently today?
a) Intra-organizational systems act as a storage unit for information within one company
siiE, L
b) As globalization continues &t &n accelerated pece, managers are under pressure Lo
quickly access, digest, and disseminate large volumes of information across national and
miernational boundaries.
o) As the cosl of hardware increases, the cost of building intra-organizational systems
continues 1o decrease,
d)all of the above &) none of the above
25) Which of the following is true regarding change?
a) Emplovees are penerally very amenable 1o change, which is a great help in
implementing new programs and initiatives.
b) Change can be avoided.
¢} Resistence 1o change is one of the major obstacles in implementing new programs
and initiatives.
d) Change is casy.
e) none of the above
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